
Allen R oell  

1 

ELECTRIC TOOL PARTS LIST 

 

 
 

 
PANCAKE COMPRESSOR 2024 • 08 • 26 
Model   EC 711S   (E1) 

 

 



Allen R oell  

2 

  
          PARTS                                          EC711S 

ITEM 
NO. CODE NO. DESCRIPTION NO. 

USED REMARKS 

1 890763 TANK 6G 1  

2 888909 RUBBER FOOT 3  

3 888910 TAPPING SCREW M6X13 6  

4 890764 TAP BALL VALVE 1/4" 1  

5 890765 SAFETY VALVE 1/4" 185PSI 1  

6 888913 HULL 1  

7 890766 COVER 1  

8 890767 SCREW PARKER 4.2X22 12  

9 890768 HANDLE 1  

10 890351 CONTROL PANEL 1  

11 890354 GAUGE 1.5" 1  

12 890352 GAUGE 2" 1  

13 888926 AIR FILTER 1  

14 890353 SCREW TBEI 5X10 1  

15 890356 WASHER 16X6.5X2 4  

16 888927 SCREW TCEI 6X30 3  

17 888928 SCREW TCEI 6X45 1  

18 888929 ELBOW 1  

19 888930 DELIVERY PIPE 1  

20 888931 CHECK VALVE 1  

21 890769 PRESSURE SWITCH 1  

22 888933 RUBBER HOSE 1  

23 890770 WORM GEAR CLAMP 2  

24 890771 FITTING BARB 90 1/4" 1  

25 890369 LOCK CABLE 1  

26 888937 SCREW PARKER 4.2X19 2  

27 890772 SCREW PARKER 4.2X16 2  

28 890773 PRESSURE REDUCER MANIFOLD 1  

29 890348 QUICK COUPLING 2  

30 890774 POWER CORD W/PLUG 1  

31 888939 NUT 1  

32 888948 HANDLE GRIP 1  

33 888918 SCREW TBEI M6X20 2  

34 888921 WASHER 6X12X1.5 2  

35 890775 PIN FOR HANDLE GRIP 1  

36 890776 PUMP OL197 120/60 1  

37 888944 SCREW PHILIPS M4X8 1  

38 888945 WASHER SPRING D4 1  

39 888946 WASHER THEET M4 1  

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     



Allen R oell  

3 

     
  
         STANDARD ACCESSORIES                                    EC711S 

ITEM 
NO. CODE NO. DESCRIPTION 

NO. 
USED REMARKS 

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

 

OPTIONAL ACCESSORIES 
ITEM 
NO. CODE NO. DESCRIPTION 

NO. 
USED REMARKS 

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

 


